b
K

HEF RS

w4

Hall R

IR

B=RnND

BUR/E
HZEE

NS

b

ok
N
'

ik
SR

ZRE T
QE!—:
4

HME T

i

InkLJE

AN
YR %S

Bt
4

4

R 4

#ik

104867105004886

KT

e E MINE2

155

80

235

78

89.2

82

79.

7

I

DHRIE

RV

TAAi
Hil

it

104867105013245

N
S
3

WEE AR

157

76

233

80

82.2

80

78.

57

I

DH IR

B2V

FAA it
Hil

it

104867105013296

HITR

AN EAYNE

131

75

206

85

88. 2

87

76.

57

I

DHRIK

R UCH

FAAI
Hil

it

104867105013252

.1

AR

Fa SO LR K

=

150

78

228

70

79. 8

80

75.

38

EYE

I

DHIRIR

RV

TAAi
Hil

it

104867105013304

PN

e RV Tk KA
(8if)

138

79

217

73

75.8

88

74.

63

EYE

I

DH IR

B2V

FAA it
Hil

it

104867105013438

ElI$T7N

JE I H T e

136

74

210

70

84. 6

73

72.

21

I

DHRIR

R UCH

FAAI
Hil

it

104867105013435

ZL

141

73

214

71

75.6

73

72.

01

EYE

I

DHRIR

R UCH

FAAI
Hil

it

104867105013442

222 K

149

58

207

76

74

81

70. 2

I

DH IR

B2V

FAA it
Hil

it

104867105004885

SN UEZTL PPN
e

130

77

207

60

76. 8

83

69.

43

EYE

I

DHRIR

R UCH

FAAI
Hil

10

104867105013246

IiE

SE SN

139

64

203

60

79. 4

82

67.

09

10

I

DHRIR

R UCH

FAAI
Hil




k.
K

HEF RS

w4

Hall R

IR

FENCE

=

BUR/E
HZEE

NS

Z
G

ERE TR AL
4E
0

HME T

i

InkLJE
SYEEE

R
ik

4

REEEE

#ik

104867105013230

LN

B AR ETE R

162

83

245

49. 2

11

DHR IR

R UCH

FAAI
Bl

12

104867105004888

R

WAL TR T
FEFIAR B

147

73

220

75

80.6

85

75.01

FUSHL

B
FXET
Itk

13

104867105004887

e E PN 'S

R

159

67

226

73

80. 6

7

74.11

EYE

I

BERE
G Smm ==
TRt

14

104867105013303

135

63

198

67

7.2

83

67.77

R

R

B
FrET
il

15

104867105013443

H AR K2

148

52

200

60

83.6

80

65. 16

EYE

I

JE N
$t+EE
Init&!

16

104867105013286

Py \\\ Igjﬁr‘ﬁ‘/ﬁﬂ -

[

142

46

188

69

75.6

78

63. 81

I

B
5T
Ltk

17

104867105013299

ANET I FlEN

123

51

174

60

76. 6

78

60. 31

Y5

I

BERE
s ==
Tt

18

104867105013291

2qlinie

R E 2t

122

42

164

73

73

71

60

FUSHEL

B
FXET
Tt

19

104867105013239

v

B KB B

115

47

162

66

80. 2

74

59. 57

KU

/i

B
aSmm ==
TRt

=it IBUE B RSt=

([ FTAEHEES

2+ FIRIMERSD 2] X 60%+REABHMS X 26%+45 &

TR X 10%+/METH 3 X 5% 1




